
   

8360 

YAMAHA YZF-R1 – EWC 

2020 →   
REVERSE SHIFTING 

Part Nr. 6920 
 
 

818118 

872 

891 

901 

813LB 

M6 x 12 DIN7991 

M8 x 30 DIN6921 
+ 807 

M8 x 20 DIN7991 

M8 x 20 DIN7991 

M8 x 50 DIN6921 
+ 807 

M6 x 25 DIN7380 

M6 x 30 DIN7380 

+ 817 + 123120906 

M6 DIN934 
+ LOCTITE ! 

 
 

M6 x 16 DIN7380 

+ 816L 
 

 

M8 x 60 DIN6921 
+123202008 810R 

686M 

BRAKE HOSE    20° / 575mm / 0° 


